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Year 8 — Representations
Representing Data
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the end of this unit you should be able to: |
Draw and nterpret scatter araphs I
Describe correlation and relationships. |
Identify different types of non-inear :
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relationships

Design and complete. an ingrouped
frequency table

*  Read and interprel grouped tables
(dscrete and continuous data)

*  Represent data in two way tables
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Matbhs, including topic
summaries, key
words, and books that
you may want to read
in your own time

Outler: a porrt that lies outside the trend of graph

Quantitative: numerical data

Qualtative: descriptive nformation, colours, genders, names, emotions etc

Continuous: quartitative data that has an nfinite. number of possible values within its range
iscrete: quantitative or qualtative data that only takes certain values

Frequency: the number of times a particular data vale occurs

I

: Variable: a quantity that may change. within the corttext of the problem

| Relationship: the. Ink between two varigbles (tems) Eg Between sunny days and ice cream sales
| Correlation: the mathematical defintion for the type of relationship

| Origin: where two axes meet on a graph

: Line of best fit: & straight Ine on a graph that represents the data on a scatter graph
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: Draw and interpret a scatter araph | 1 Linear Correlation
P= 3 T |
| Age of Car (Years) { 2\ 46|80 H = 1 x I | 2 * 2™ x g X
® (&Y l g x g‘é x z Ly
I Value of Car (£5) \7 Oj 6250 | 4000 | 3500 | 2500 = .."'? o % I | 5 X as W, FlOX Xy
I . k=i ) g—’ g - T « |l a1 ’5- L] X x gl %%
I ' E‘IJ] % B Number of les "Number of cups of coffee i
*  This data may rot be guen in size order x | | umber of BHok pr pFnipg o o Lonpe}-of thufnly rak
: *  The data forms nformution pars for the scatter graph S 0 8 | | Posiive. Correlation Negalive Correpion No Correlation
. orshi 2 st Lot Gkt 110
| tohdn e a) Age of Car (Years) Il Os one variable Qs one. varidbk There s no
| Ths W;tt” oraph show as X i reredses so noredses the relatiorship
| the age l:;grmm the The. ads shoukd fit all the vaibes | does the other other variable befween the two
| The Ink between the data can " RS on and be. equly sread ok | vanable decredses varidbks
be. explaned verbaly |
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| The line of best fit |, lsng alne of best fit BN ek
ne of best fit to predct nformation
I The Line of best fit is used to moke estimates I | 100
3 oufside of our data
| about the nformation In your scatter araph EE : | RS **This & not. s wseful — i this
. g3 | Interpoltion s using the Ine of best @ example. you cannot score, more
| Things Lo kniowe | [ fit to estimate vaves rside our data E 60 that 100/ So revising for longer
The Ine of best fit DOES NOT need to Height of plant t 2 2
| 40 through the orgn (The pont the || pon CERRE pRRLgme can not be estmated
[ aves oross) K s only an estimate | | % 40 %
e There shouid be approxmately the becase the Ine i | | g 40 hours revisng predels a | 8 : \
same. number of ponts gbove and designed to be an average percentage of 45 .
I below the Ine. (1L may not. g0 throuh represertation of the data I | i Ths pont & an “outler’
| ary ponts] [} 20 40 60 80 5 outier because it doesnt fit
Il ;h;t\e extends across the whole I 5 dwas a straight ine. | | Time spent practising (hours) this model and stands apart from
| | | the data
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I UHWOUPE’,d Data The. table shows the nomber of : | GfQ_UEQd D&t& ff we have a large spread of data it is I | Rep rﬁsentm data n two-wm tabbs
I sbings studerts have. The | betterto group t Ths s so . s easer to bbok for a trend Form Two-way tables represent dscrete nformation n 6 visual way that dlows you
| The number of times an ASWESS Were. | | grows of equal siee to make comparison more. vald and spread the. | to make conclusions, find probabity or find totak of swb groups
| et 512203411202 |, growps out from the smalest to the largest vate |: —— There are 5 green
| shapes
2 peopk had 0 sbings Ths means ther I 5 Cost of TV (E) Tally Frequency l | O squares \ l
| : | ]
| are O sbings to be conted here | | § ) & 101 - 150 ™ I 7 | | I:I O O ¥50uares Circles Td_i*
Number of siblings | Frequency | 2 § S 151 - 200 L THL | 1l Green |' 2 3 5
| 0 2 0 || gg‘a 201 - 250 ™ 5 |I |:| D Red | \ 3
[ P = 3 | | = 251- 300 " 3 | | O Totdl 4 4 g
| 2 4 A+2+2+2RAx4-8 :| We do not know the exact vale of each tem n a group —so an I : ) Then xé
: 3 2 3+30R3x2-6 | | estmate would be bused to catubite the overdl total (Mdpont) | | Using uour two-wou table Ltemsemctm\
4 1 4 \ o |
| |: E% x{ = || To find ai fraction
| A peopk have. 3 sings so tere are. 6. | $E 0y |(luie | | &g What fracton of the tems are re? 3 red tems
| Bestrepresertedy sbings n total |} ge g 1 |0<zsml > solsgun | il Btemsintotd - 2
| dscrete datai (Not OVEROLL treeare | | | g E g. g H<x=) 3 ncldes every weight | g htertaing lse wu froction,
always a number) 0+3+8+6+4 | § > | |S0<x=<70ig S bigger that €0 wp | decmal percentage equudence
| Sbings - 2| sibings : | o3 b “?o?;m | : knowledge
I =




